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UGC NET PAPER 3 JANUARY 03, 2017 SHIFT 1 GEOGRAPHY QUESTION PAPER

Note : This paper contains seventy [ive (75) objective type guestions ol two (2) marks each. All

tn

questions are compulsory.

Ria 1s an example of —

(1) Neutral shore (2)  Compound shore
(3)  Emerecd upland shore (4)y  Submerged upland shore

The Indian plateau owes 1ts existence due (o

(1)  compressional torces (2)  tensional forces
(3) emergence (4)  subsidence

The comprchensive theory of geosyneline was put forward by
(1y  Hall and Dana (2) k. Haug
(3y J.A Steers 4y J.W. Evans

Match List-1 with List-1I and sclect the correct answer from the codes given below

List-I List-11
(Shape and Alignment (Specific names of
of Dunes) Dunes)
. Longiudial A. Reversing
II. Transverse B. Coastal
1. Parabohic C. Sell
IV. Complex D. Barchan

Codes :

I [1 [ IV
tly ¢ D B A
(2)y A B C D
(3) B A D &
4y D L. A B

Match List-T1 with List-II and sclect the correct answer from the codes given below

List-1I List-11

(Theories of Cavern formation) (Scholars)
.  Two cycle theory A. Swinnerton
I1. Watcer table theory B. Gardner
I1. Static water zone theory C. Marott
[V. Invasion thcory D. Davis
Codes :

I Im I Iv
clE O B A D
2y D A B &
(3) B C A D
4y D B C A
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Lateral planation theory of pediment formation was proposcd by
(1y  McGee (2)  Gilbert
(3}  Lawson 4y Davis

Griven below are two statements, onc labelled as Assertion (A) and the other labelled as
Reuson (R). Select your answer [rom the codes given below :

Assertion (A) : Hawan Island 1s a region ol volcanic activity.

Reason (R) : Convergent plate margings arc sites of volcanic cruptions,

Codes :

(1} Both (A) and (R) arc correct and (R) 1s the correct explanation of (A).
(2)  Both (A)and (R) are correct but (R} 15 not the correct explanation of (A).
(3) (A} is correct, but (R) 1s false.

(4 (A)is Talse, but (R) 15 correct.

Which one of the following descriptions is appropriate for the term “harotropic” ?
(1) Isobars and 1isotherms are parallel. (2)  Isobars and sotherms are not parallel.

(3) Isobars and isohalincs arc parallel. (4)  Isobars and isohalincs arc not parallel.

Muatch List-T with List-11 and select the correct answer [rom the codes given below :

List-I List-IT
(Surface condition) (Precipitation Efficiency
(P-E) index)
[.  Forest A, > 127
I[1. Desert B. 216
IT1. Ruain lorest . 3263
IV. Grasslands D. 64 - 127
Codes :

S S 1 1 S A,
) C A B D

2) ¢ A D B
3D B C A
4 D B C



www.prepp.in

6.

prepp

Your Personal Exams Guide

(3) 4)

AT 21 < e T F, U AR (A) ST AT A (R) @ | S T e e @ wet s e

AR (A) ;B T SATATIE e T UR9 |

H%{I{} : 3Tﬁ-|%:|ﬂ_r| L{:‘id H“'IJ—HIE \mnmui{g“] .5:':.\4”4] gpm%- [
EEE:

(1) (A) 3 (R) 3H T & 2T (R), (A) I TET A& |
(2)  (A) 3T (R) T T &, T (R), (A) F1 91 20T T &

(3) (A) W& &g (R) 7o § |
(4)  (A) TR E, TR (R) TR 7

(1y  GFeTE {ET 23T THEr TG AT B 8

(2) TR & 3R T 1@ SER 6 2

(3)  TTRTE TG AT THAF0T TE YR Bl § |

(4) HHEEE TET 3T AT T HHAR T A 6 |
-1 ST TAT-11 A FEAT I AT = 50 T 2 T el I9 M0
Tl 11
(Ve 791 (ETUT BT (T-E) TeTehieh)
fy R % 127

[I. T&&ET < 16

3263
64 — 127

[11. '~‘3Ib|r| L«ITi-{ =]

o N T op

IV, BT e

(I € A
2y C A
(3) D B
4 D B

A

o 0w
ws



www.prepp.in

14,

Match List-1 with List-1I and sclect the correct answer from the codes given below

List-I List-II
(Component) (Volume % in dry air)
I. Oxygen A, 0.03
[1.  Argon B. 78.08
[11.  Carbon-di-oxide C. (.93
[V. Nitrogen D. 2094
Codes :
I I I IV
(1y D B C A
2y D C A B
(3y C D B A
4y D £ B A

Given below are two statements, onc labelled as Assertion (A) and the other labelled as

Reuson (R). Select your answer [rom the codes given below :

Assertion (A) @ Tropical climates arc of special geographical interest.

Reason (R) : Over 73% ol the World’s population inhabits between latitudes 30° N and

30° S,
Codes :
(1} Both (A) and (R) arc true and (R) 1s the correct explanation of (A),

(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation ol (A).

(3)  (A)is true, but (R) 1s talsc.
4y (A)is false, but (R) 15 true,

In Koppen's classification of climate the symbol Aw relers (o
(1y Monsoon chmate (2)  Tropical rainforest clhimate

(3)  Steppe climate (4) Tropical savanna climate

Which onc of the following is the main cnergy source for the formation of hurricancs 7

(1) Geothermal energy ol the Earth

(2)  Latent heat dertved rom condensed water vapour
(3)  Large scale fossil fuel burning

(4y  Formation ol Ozone (O3) hole

Which one ol the followings is the correct average air mass density at the surface ol the

Earth 7
(1) 09kgm" (2) 12kgm"
(3) 1.5kg m™ 4y 0.7 kg m
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In which onc of the following atmospheric layers the temperature decrcascs with height at
an average ratc of about 0.6 °C per 100 m 7

(1)
(3)

Troposphere

Thermosphere

(2)
(4)

Stratosphere

[onosphere

Match List-T with List-1T and select the correct answer [rom the codes given below :

List-1
(Nature of the change)

I. Desertufication m the semi-arid area AL

[I.  Gully development in a valley

I[MI.  Increasing coast erosion

IV. Greater river-flood intensity
Codes :
I I ur Iv
(l1y B C D A
(2) B C A D
3y € B A D
4y D C B A

List-TI

(Possible anthropogenic causes)

Effect of groynes up the coast
bottom B.  Ovcrgrazing
C.  Runolf from a new road
Urbanisation

Which one ol the following was [irst to put forward the concept of ‘life form™ among plants

in 1934 7
(1) A5 Moffat

(33 Chrnsten Raunkiaer

R.H. Whittaker
.0, Box

(2)
(4)

Muatch List-T with List-1I and select the correct answer [tom the codes given below :

List-T List-IT
{(Elements) (Density in gmfcmg}

I Sca water A 24
II.  Oceanic crust B. 1.03
I,  Contiental crust . MK
IV. Contincntal margin D. 29
Codes :

I I I IV
(1y D B A C

2B D A C
3) B D C A
4 C D B A
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Muatch List-T with List-11 and select the correct answer [tom the codes given below :

List-1 List-IT
(Sea confliguration) (Deposits)
I. Sea bottom A, Huadalpelagic

[1.  Surface layer of sca water B, Pcelagic province

I, Deep-sea trenches C.  Benthic province
[V. Seca water column D.  Epipclagic zonc
Codes :

A § GRS 1 | O A
(), ¢ D B A
2) ¢C D A B
) D C B A
4 A D B C

Which one of the following is the correct average slope angle of continental slope ?
¢ly 20 (2) &
Gy o 4y &

Griven below are two statements, onc labelled as Assertion (A) and the other labelled as

Reason (R). Select your answer from the codes given below :

Assertion (A) : Coral reefs tend to be most extensively developed along the castern cdges
of continents.

Reason (R) : Sea water 1s warmer than 20 °C.

Codes :

(1) Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A),

(3 (A)s true, but (R) 1s false.

(4 (A)is false, but (R) 15 true.

Which one ol the following is the main chemical composition of coral reefs ?

(1) MegCOy (Magnesium Carbonate)  (2) KCO; (Potassium Carbonate)

(3)  NaC/l (Sodium Chlonde) (4y  CaCOs (Calcium Carbonate)

The transition zone between two ecosystems is called
(1) Biotope (2)  Ecotone
(3} Biome (4y  Habitat

Who wrote the book “La Geographie Humaine™ ?
¢ly PiE.James (2} Jeans Brunhes
(3)  R.J.Johnston (4) E.Jones
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26.

27.

28.

29,

Who amongst the following defined geography as a chorological Science 7
(1) Richthofen (2)  Heltner

(3)  Ptolemy (4)  Peter Haggett

Match List-1 with List-II and sclect the correct answer from the codes given below

List-I List-11
(Authors) (Books)
I Hageerstrand A, Theoretical Geography

. Gilbert White B.  Geographical dimensions ol innovations
[ Walter Isard C.  THuman response to Floods
IV, Willlam Bunge D, Methods of regional analysis
Codes :
I [ I 1v

() A ¢ B D
) D B A C
3 C D B A
@ B C D A

“The dominant idca in all geographical progress is that of terrestrial unity,” This statement
1s attributed to

(1} Richard Hartshorne (2} Vidal de la Blache

(3)  Jcan Brunhes (4y  Friedrich Ratzel

Who was the first promoter of gecographical knowledge trom Germany 7
(1) Ferdinand Von Richthofen (2)  Cuarl Ritter

(3)  Carl Andree (4y  Oscar Peschel

Stop and go determinism was postulated by whom 7
(137 Humboldt (2 Jean Brunhes

(3)  Gnffith Taylor (4)  Ratrel
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28.
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3.  Match List-T with List-II and sclect the correct answer from the codes given below

List-I List-11
(Geographers) (Country)

I. Alexander Von Humboldt A. France
[1.  Ellen Churchil Semple B. UK.
M.  Peter Haggett C.  USA.
[V. Jcan Brunhes D.  Germany
Codes :

I [ I 1v
(1y D C B A
2y L B A D
(3) B D A
4y A D j B

31. How many stages of population growth arc involved in demographic transition 7
Gl 2 (2) 4
(AE 3 4y 6

32. As per census of India how many categories of urban settlements arc identified 7
(ry 3 (2y 4
(3F B 4y 6

Lad
Lad

Which one ol the following models 1s based on the study ol human ecology 7
(1Y Burges and Park’s concentric zone modcl

(2} Weber's location model

(3)  Haggerstrand’s imnovation diffusion mode]

(4y  Zclinsky's mobility transition modcl

34. As per the Indian census, the difference of sex ratio (Females per 1000 males) of the total
population in India between 2001 and 2011 was

(hE 3 (2) 6
3) 7 @) 8
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30,

31.

32.

Lad
Lad

34.
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Muatch List-T with List-11 and select the correct answer [tom the codes given below :

List-I List-I1
(Distribution of Settlement) (Pattern)
A, Perlect Uniform
[.
B. Cluster
I1.
&3 Random
I11.
D, Unilorm
[V,
Codes :

A § G 1 VR A
(y B C A D

2) B C D A
3B A D C
4 A B C D

The census of India (201 1) states that maximum density ol population 1s found in which of
the following Union Territories ?

(1) Andaman and Nicobar Islands (2)  Lakshdweep Islands

(3) Dadra and Nagar Havcli (4y  Daman and Diu

According to census, the literacy rate (%) of India in 2011 was recorded as
() 80 2y 78
Ay 76 4y 74

Which one of the following conditions of Input price vartables is applicable in the given
diagram of the deviation of a boundary between the market areas of two competing firms A
and B, where freight rate 15 equal ?

%
(Price
])T]'C{: [FRC SRR ATRR R
dl
[} ant
Distance [rom Planl—
Codes :
(1y A'=8B" (2) AP <BP

(3) AP=RBP 4) A°>BP
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41.

42.

44,

The naturc of input cost-curve over space in industrial landscape becomes
(1) Convex (2)  Concave

(3} Lincar (4y U’ shaped

Among the following authors, who wrote the book entitled “Locational Analysis in Human
Geography’ ?

(1y P.Haggeut (2) T. Hagerstrand
(3y P.Hall (4)y D. Gregory

Ciiven below are two statements, onc labelled as Assertion (A) and the other labelled as
Reuson (R). Select your answer from the codes given below :

Assertion (A) @ Urbanization 1s a defining phenomenon of this century and the developing
countries are at the locus of this transformation.

Reason (R) : The urban shift has happened in the last few decades larecly duc to rapid
growth of mega cities in the developing countrics.

Codes :

(1)  Both (A) and (R) arc truc and (R) 1s the correct explanation of (A),

(2)  Both (A) and (R) are true, but (R} 15 not the correct explanation ol (A).
(3)  (A)is truc, but (R) 1s talsc.

4y (A)is Talse, but (R) 15 true.

Nomothetic approach in geography emphasizes of

(1y  Induction study (2)  Ideographic study
(3)  Law making study (4)  Empirical study

Alfred Weber’s approach to optimization ol spatial process m industrial landscape was
towards the search ol :

(1) Maximum revenue location (2)  Least transport cost location

(3)  Uniformity of input demand (4)y  Uniformity of plant revenuc

The major occupation of the people of Mediterrancan lands i1s :

(1Y Nomadic herding (2)  Livestock farming
(3)  Growing of tropical crops (4)y  Growing of grains & fruits

Where are Tapovan and Vishnugarh Hydroelectrie projects located 7
(1)  Uttar Pradesh (2)  Madhya Pradesh
(3)  Uttarakhand (4y  Jharkhand
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ATHIGIEER 3UTTH ] § 6T WEryd § 2

(1) =99 Jeqad (2) SIS STEET

(3) T fEm areEm (4)  2TTaTees 3TEEE

SATITTaR Sy ¥ S UTHaT 3 SEaeaT] & SRS SET FT I [ SIS F e 7 & ¢

(1) Aoy TRa sTaErefd (2) Afaw TReERT AT SrEteid

(3) &I I ¥ HEE (4) G O ) UHE]

IEAIIG TE9T o AN 6T WE e € ;
(1)  TETETar oA (2) T WAL

(3) IUEFZEYE FOAT HI S (4) 2T 3T el &I 3]

qqred wel fawpTg STellawd TRasHN 6] 89T § 7
(1) ST ULw Q) TET
(3) FIETE A



www.prepp.in 'repp

Your Personal Exams Guide

46.  Which statc in USA grows wheat in spring scason 7
(1) North Dakota (2)  Texas
(3} Ncbraska (4y  California

47. Who coined the term GEOPOLITICS 7

(1Y  Spykman 2y Mackinder
(3)  Kjellen (4y  Haushofter
48, The Tribal Wellare Committee (1952) classihied Indian tribes into how many calegories ?
ElE B 2y 4
3 3 4) 2

49.  The Hottentots are the
(1) Negritos of Srt Lanka having brown colour
(2)  Yellow skin colour people of South-West Africa
(3)  Negritos of East Alrica

(4y  Pigmies of Cango basin

3. Match List-T with List-1I and sclect the correct answer from the codes given below

List-1 List-11
(Sources of Energy) {Places)
[ Geothermal A, Khambhat
I Sea Wind B. Kuaiga
[II.  Waves C. Manikaran
V.  Nuclear . Vijinjham
Codes :

A O G 1 ) S Y
Iy B A C D
) D C B A
3) C A D B
@ A C B D

51, Which one ol the following authors developed the theory ol social physies to create the held
of macro ge0 E_U"cl}_"}h ¥ gy

(1y  Stewart and Wamntz (2y  Jackson and Smith
(3)  Shevky and Bell (4y  Jones and Eyles
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40,

47.

48.

49,

ST 21 B AT T T 3 AEH 7 4 ST E 7

(1) 3o SHE (2)
(3) e (4)

YIS FTe ToheTT WeIfeTel fahelm 2
(1) EIEF (2)
(3)  Heler @)

ST SFeaTor WA (1952) 7 AT S @1 feheH 270 7 a9 o= € 2

(1 3 (2)
(3) 3 (4)

QT i

(1 1Ww3?ﬁma?q\m

(2)  =RIUIITTEE 3TRIH & Oiel =9 10 % A
(3) AT SAEH o A

(4y  SBITT FTE o i

wit-1 hi-11

{'dqu-ﬁ & &) {T=IT)
R 511 o A, @RI
. == B. &
[l sl o C.  HiaeRo
V. TR D.  TasTEd
B ;

| § I | § I AV
() B A C D
2y D C B A
3y C A D B
4 A C B D

Prefafad 3 9 T S § e Sie ¥ 87 % e 3 R T i & Raar #n e

i = }
(1) WA AR are (2)
(3y YHETE AT S (4)

ST

4
P

ST 2T Tarer

.
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56,

Who defined cultural geography “which cmphasizes human cultures and is commonly

cquated with human geography™ 7

(1)
(3)

Fdward 1. Ullman’s 1957 study on commeodity flows (o study spatial interaction and

John Evles

Dudley stamp

(2)  Emrys Jones
(4) Eshref Shevky

regional cconomic structure was basced on cconomy of which country 7

(1)
(3)

Europc

U.K.

(2y USA
(4y  Austraha

Match Laist-1 with List-1T and select the correct answer [tom the codes given below :

List-TI
(Theories/Model/Concepts)
A, Concentric zone theory
B.  Primate city
C.  Multiple Nuclel mode!

C. Harris and E. Ullman D.  Mcgalopolis

Muatch List-T with List-11 and select the correct answer [tom the codes given below :

List-T

(Geographers)
I. J. Gollmen
[I. E. Burgcss
I, M. Jefferson
BN
Codes :

I I In IV

(1 A D C B
(2) B A [ C
(3 B B A D
4y D A B &

List-I

(Year)
I. 1826 AL
[1. 1966 B.
[, 1954 .
[V. 1909 D.
Codes :

I 1 1 1v

iy B D L A
2y C D B fi
(3) A % B D
4y C B A D

List-11
(Books)
Theory of the Location of Industries
The Economics ot Location
The Isolated State
Central Places in Southern Germany

Which one ol the following 1s not in conformity with the central place theory 7

(1)
(2)
(3)
4)

Central place 1s a scttlement providing scrvices tor the population of its hinterland.

Hicrarchy and nesting pettern results in maximum number of central places

Ubiquities and localized raw materials

Market arcas tor different goods resemble nets of hexagons
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52, oo QT et o ST AIEE GEREET U F67 361 § SR O e © 9 6eEe e o
THAed THT ST &7 3% &9 T 91001 %1 6 7

(1) =9 ey (2) UfRg S
(3) TTH (4) UITE YIEH

53, TZaE Uel. TOHA 1 1957 1 WE Faihal AR &3 M9 e 1 2T FI &6 o7 avg
TATE THAT 3Tegg TR ST o STUEIEe] T AT o7
(1) =’M () T
® A= () s

54,  IE-1 ST W11 1 AT R0 R 19 {0 78 F27 T Tl I A0

- il 11
(TeTE) (FOgT=a/m ST/ TSI
R M | e A, TET 8 faer
. 3 =" B. W WG
[l T STHREA C. dghadh ared
T ;

S S § R A Y
Iy A D C B
) B A D C
3 C B A D
@ D A B C

55.  gAN-1 AR FE-11 T AT i 2”19 51 T Fal ¥ ol 3L 0
?ﬁﬂ-l =i-11
(=) (T%T)
I 1826 A.  YARI 2TE T TR 2 SE
I 1966 B. T THREIHRT ST SRR
1. 1954 C. T HARYeEE &2
V. 1909 D. 201 WHH 27 HIga+ STHH]
S A
I I uar 1V
Iy B B € A
2) ¢ D B A
3) A C B D
4 C B A D
56. ECTEd ¥ F FiF T FEE T HETT ST T8 § 0

(1) 5 I TF Gdae § ST 30! G951 STEE] & (ol Jan gueied s & |
(2)  2TTHRT 3R e Waey & UROTEE 6 ST OY SIEshaT T a0 § |
(3} TEETTRAT ST TR 3T JTe

.

(4) TN IEgE % TAU IR &7 ST % A1 & 6 A ¢ |
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Muatch List-T with List-11 and select the correct answer [tom the codes given below :

List-I List-T1
(Terms) (Descriplion)

I Material index A, ratio of the labour cost per unit of product to the
locational weight of that unit

I Isodapanes B. advantage ol production due to the concentration of
industry

[II.  Labour Co-cfficicnt €. weight of localized material and the weight of the
product

[V. Agglomeration D.  lines of cqual transport costs per tonne

Codes :

I I ur Iv

(Iy ¢ D A B

2E [ & B A

@l D B cC A

4y B D A C

The gravity principle in identification of nodal regions states that the interaction between
two geographical points 1s directly related to their

(1} Distance (2)  Masscs

(3)  Size of settlement (4)  Mode ol transport

Which onc of the following is located in the Bastar region 7
(1)  Dandel wildhile Sanctuary (2)  Rajaj National Park
(3)  Bandhavgarh Navonal Park (4)  Indravati National Park

Who among the following formalized the concept that there cxists relationship between the
spatial organization and national development 7

(1) Kuklinsk: (2)  [Dickens

(3)  Frnedmann (4)  l.uten

Who wrotc the book “Growth Pole, and Growth Centres for Rcegional Economic
Development in India™ ?

(1} Misra, Rao and Sundaram (2y  Sundaram and T.B. Lahiri

(3)  Sen and Wanamali (4)  Sadasyuk and Sengupta

Match List-T with List-1I and sclect the correct answer from the codes given below

List-1 (Crop) List-II (Chief producer)

I. Groundnut A.  Karnataka
[1. Barley B.  Uttar Pradesh
1.  Rice C.  Gujarat
IV. Ragi D.  West Bengal
Codes :

I 1§ I 1
el & B D A
2 B D A C
(E D A B &,
4 A C B D
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L)

-1 ST -1 i gafer e o A for e el v s gh
S T=-11
(%) (feraraT)
. e gasi A THE % JATRITE TR T o H 3 IHIE & S
HTeT ZePTE 578 TTNTE 1 31T
1. aAEger B. TN o o] o U] So1E B oA
[l &/ C. T T & 9 2T Se0s & 9%
E T

=

I [ I 1V
(e © D A B
2y D & B A
3 I3 B C A
4) B D A C

AT &1 T Bl TEEE | T EET 6 &1 WieTe Egel o arg Tarehar yedel Y § TEd ¢
() T 2) FEIE d
(3) SR & AR W (4) UREET F \EE H

frefeilgd § ¥ sy vegr 9 &0 o7 fwg § 2
(1) STl g==sie eTvanug (2) TSI T 32
(3)  AETg T 3 (4)  ZeSTEdr IE S

TTEfeIEd § § T6E- 30 TR &l A9=1Re T 527 o T 91 2T I o ¥ day
Al 7

(1) FHo (2) fea

(3)  wietE (4) e

~I

TEFE “TTY el UVE T Hed B U hHIHE Saeidie e Sledl” =0 T o] ?
(1) T8, 3 HRX g2, (2) G=IH AR A AfEES

(3) T 3T FEIA] (4) W= AT T

)

T -1 (B T=it-11 (e IS )
. = B. SECURY
[II. =meed C. TN

-0

V. I D. W e

—_—
e

I1

—

weiloniie- W
T P

M e I W
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The oldest rocks in India are reported from

(h
(3)

Stwalik range (2)  Aravali range
Dharwar rcgion (4y  Vindhyan range

Match List-1 with List-1I and sclect the correct answer from the codes given below

List-I List-I1
(Pass) (Statle)
I, Shipki-la A.  Arunachal Pradesh
II. Nt B.  Himachal Pradesh
[1I.  Nathu-la C.  Uttarakhand
V. Bomdi-la >, Sikkim
Codes :
I i mr Iy
(ly A B C D
2y ¢ A B D
(3) B C D> A
4y D B A C

Given below are two statements, onc labelled as Assertion (A) and the other labelled as
Reuson (R). Select your answer [rom the codes given below :

Assertion (A) @ India 1s a multi-religious and multi-cthnic socicty.

Reason (R) : The constitution of India offers to all citizens, individually and collectively,

lundamental rights without diserimination on grounds of religion, race, caste, sex or

placc of birth.

Codes :

(1)  Both (A) and (R) arc true and (R) 1s the correct explanation of (A),

(2)  Both (A) and (R) are true, but (R} 15 not the correct explanation ol (A).
(3)  (A) s true, but (R)1s false.

() (A) s false, but (R) 1s truc.

Sclect the correct sequence of the Eastward flowing rivers of peninsular India from North to

South :

(1} Subarnarckha, Krishna, Mahanadi, Godavari, Cauvery, Vaigai, Pennar
(2)  Subarnarckha, Mahanadi, Godavari, Krishna, Pennar, Cauvery, Vaigai
(3)  Mahanadi, Godavan, Subarnarekha, Krishna, Cauvery, Vaigai, Pennar
(4y  Godavart, Subarnarckha, Krishna, Pennar, Vaigai, Cauvery,Mahanadi
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63. RA T AT T2 FaEl e S €

(1) TyEres siaen (2)  TUTAT el

(3) TETE 9 (4)  TereT Swer

64. gAT-1 2T FE-11 T oI I 207 T 771 T el F el 30 M0
T=il-1 T=0-11
(=T) (TT=)

3TEUTE T U]

BT Uo gl
-

4

0ig
g
- O W

I I 1 1V
(b, A B C D
2y ¢C A B D
3y B C D A
4 D B A C

=

ATl < & S T €, T AR (A) IR GET T (R) & | 7l e T et W el sme A

=
LN

ATHUT (A) @ T U GgyTie I SgsTarg TusT 7 |

T (R) p TS Wferer adt AR i At U anfedh w9 9 o, weif. S,
[T & ST W1 2 ST 7Y SR HewTS 98] AT E |

e !

.

(1) (A) 3T (R) 3HT T & 20X (R), (A) I TET A& |

(2)  (A) I (R)EAT Tl &, &6 (R), (A) & T&l ATAT Tl & |
(3)  (A) TR E, T (R) T & |

@ TRk R R W

66. WA UTHETT I T8l Sl AL 55 aTell A15dl 1 I H 1607 F AT Hel 360 R & 7

(1) T@EUNEET, FHOT, UgHal, TEER], e, 9, TR

(2) ARG, WEWR], TRTAR, FOT, YR, e, g

(3)  TEEL, TR, WORET, FW, e, 9, TR

(4)  TIETERT, WO, FT, UK, SATE, e, Tara]
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Match List-1 with List-1I and sclect the correct answer from the codes given below

List-T
(LLand use / L.and cover Lypes)
l. Forests
[1. Cultuvated areas

[11.  Uncultivable land

IV. Bultup arcas

Codes :

I
Ly «
(2) D
(3) A
Gy ¢

Which one ol the following systems uses the vector and raster data 7
(2)
()

(1) Remote Sensing System

(3)  Global Positoning System

Which onc of the following lincar length measures could be derived from the fractional
e -
measure ol 1) metres

[
A
£
D
A

I11
[
B
B
B

(13 Nanometre

(3y  Millimetre

Match List-1 with List-1I and sclect the correct answer from the codes given below
List-I
(EMR spectral band)

L. Visiblc

I1. Ultraviolet

[T, Inlrared
V. Thermal

Codes :
I
(1y B
2y A
(3y D
4y C

In order to study standard of hiving among the large, medium, small and margimal furmers of
a region, which of the sampling technique would be more appropriate ?

(2)

1
A
B

D

o vl S o Wl v M

IV

B
A
&
D

AY

&
D
B
A

(1) Random sampling

(3)  Opportunity sampling

(4)

(Conventional colour map symbols)
A.
B.
(.
D.

Yellow
Red
[Dark green

Brown

2y  Micrometre
(4y Femtometre
List-II
(Wavelength (Micron))
0.8—1.1
10.0—-12.5
0.3-04
04— 0.7

Geographical Information System
Both (1) and (2)

Stratified Random sampling

Multistage sampling
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69,
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71.

L)

gl -1

(VA TRTT/A T3 W) (TR | 37 Ueieh)
& A, e
1. =& B. @
. 5= 9w C.  TEUED
V. [ & D. 9
He

o

S SR N R A
(y € A
(2) D C
3) A D
4y ¢ A

ol vs o e
L

AR W ¥ & 91 2T g9y 3 T 3IhE] 6 [o10 W il &
(1) 5L Teml uome) (2) rTifetsh AT T
(3)  SiTvaes TRl TRt ToTe] (43 (1) 3T (2) AT

ettt 7 9 e o TEes ofar 7 107" 92T & W= 90 9 [T S qwdr g
(1) e ) TEEEET

L L} B S

(3) THeHET (4)  FHIHET

g1 AT GA-11 7 oo HifT 2T Fe 50 T %20 F 961 3T T
- -1

(Tererer Trar i fafReoT Ul) (99T wETg (TS I))

[ g A 0.8-1.1

1. R B.  10.0-125

[T, 39T C. 03-04

[V, amH™ D, 04-07

A A ) S A
() B A D C
2y A B C D
3 b C A B
4@ C D B A

fopdl &7 o d9, 7T, oy ST WA A & #g Sied @Y %1 2T w3 8 AU e 6
AT Tehe1as AT SUa &1 2

(1) @i viaesi (2) ERIFA Ao iRl

(3)  AaEy wfdse (4)  FEEOT Ui
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Which of the following 1s a non-quantitative areal distribution map 7

(1}  Choropleth (2)  Tsopleth
(3)  Muluple dots (4y  Choroschematic
Muatch List-T with List-11 and select the correct answer [rom the codes given below :
List-I [ist-TI
(Scatter diagram) (The degree of simple rank
correlation)
33
I .. . A, p=-1, perfect negative
o X
o
It B. p=0,nocorrelation
0" X
¥
II. C.  p=<1 positive
0 X
v, D.  p=1 perfect positive
) : %
Codes :
| Im I Iv
(ry ¢ D A B
2y b C A B
(3) C D B A

4y A B 5 D
Which onc of the following cquations represents a true mathematical characteristic of
mean ?

(1) XX - X)* = minimum (2) EX-X)Y=0

(3} X(X - }_{}3 — maximum 4y X(X - i}‘? < L(X - }_{}

Grven below are two statements, onc labelled as Assertion (A) and the other labelled as

Reuson (R). Select your answer from the codes given below :

Assertion (A) @ Arca sampling by random numbers requires the arca under study which
should be gridded within two areas at right angle.

Reason (R) : The mntersections of row and column ol the area will give the sample locations
of obscrvation n the area.

Codes :

(1} Both (A) and (R) arc true and (R) 1s the correct explanation of (A),

(2)  Both (A) and (R) are true, but (R} 15 not the correct explanation ol (A).

(3} (A) s true, but (R) 1s falsc.

4y (A)s false, but (R) 15 true.

prepp

Your Personal Exams Guide



www.prepp.in

12,

74.

Pt 3 4 i A A o w2

(1) =
(3) =

)

o

=Ai-1

(R 0T 3TTe)

]

1.

0"

I11.

V.

()
%

[
(i € B
2y D C
@ & D
4) A B

I11
A
A
B
C

(2) EEEH
(4) =97 TRl

-1 A FAT-11 T GHFAT T A T 20 70 Fl F Tl o A

-1
(TR Hile TeEer &1 f23)
A, p=-—1, 00 FUEHH

B. p=0, %% TGy T8

C.  p=<19TcH%H

D.  p=197 g

IV
B
B
A
D

T T=ATANEd Shi- O THERI0] U749 &R WEI-9aT 0 [E9T0aT & Uia-reeel sia] & 2

(1) (X -X)" =39 (2) ZX-X)=0

(3)  NX —X)* = 3{ieEas @Y T =X e T X

== &7 F IS 0, e AT (A) 2 3E 9% (R) § | Y WU T Fel § ¥ Tl 308 9
T W& 5T &7 U9l o [0 eTedas o TamTe U &7 & eqTayashal
BIdT & 1519 <7 &30 & 27y WHeH 0 AT H g7 =8T |

&7 T U 37T WY % I &9 W U0 F Uiaey] SEriaal ue s |

ATIHL (A)

& (R)
che o

(1) (A) 3T (R) 5FT T8 % 2R (R), (A) F1 T s ¥ |
(2)  (A) 3T (R) TAT T&T &, TR (R), (A) T T&T ST 81 € |

(3) (A) T E g (R)Ted § |

4y (A)Tera g, g (R) 981 & |
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